" Chapter 1 Review

. 1. Which imperial unit is best to measure each item below:
mile, yard, foot, or inch?

A
a) the distance between your locker and the front door of the school: 3&1'6{ /F eei
b) the width of a house: __Y asdl -
¢) . the distance around a pop can: ___1AC.h

2. Convert:
a) 84 ft. to yards b) 9 ft. 7 in. to inches -
ft. = 1 yd. 14 = 14_in.
84&—(?’7‘( 3 22 Jyd, or oft. = Y4 xn in.
i See page 6 of the
84 ft. = yd. 9ft. = U X Student Text for a
_a.g,_ Add.the inches conversion chart.
SHITE ot 7in.= 105+

9ft, 7in.= 115

, 3. For each object below:
« Describe how you measure it.
* Include the measuring device.
’) » State the imperial unit.
h » State the Sl unit.

a) the greatest distance around a fish bowl
Imperial unit: ___1n.CH
Sl unit: (G414 ]
Measuring device: o ml‘f& »&(‘Q

b) the width of your kitcheC floor

imperial unit:
S| unit: AP _
Measuring device: o\
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4, Convert:

a) 17 yd. to metres b) 68 mi. to kilometres -
1yd.= .9 7Tm 1mi.= 9 km
17yd. =17 X QQM"I eami. = Gy x k]
17yd. = 15, 59 eami= 4.4l

See page 13 for a
conversion chart.

5. Ryan drove 19 km 1o watch a lacrosse game. Julie drove 11 ml. to see the same game.
Who drove farther? :

Ryan drove: 19
Convert Julie’s distance 10 kilometres.

$mi, =Ll
ims 1 x L6
1Mmi=_ L1

Since K‘jﬁf\ is greater than 2.1, 'ﬁ {Qﬂ drove farther.

EEA 6. Find the surface area of each object, to the nearest square unit.
a) a right cone

For a conely
sA=m [ +w {5 _
M m ’ Substitute: r= /¥ ands = 3
em SA=T ¥ e s8]
' sA=__ A10.YY .
The surface area is about: 277 ]

_.;__..——i-

See page 27 for the
formula for the surface
area of a cone.

b) asquare pyramid

For a square pyramid: «
: o Area of base is: QS
Area of each triangular face is -12- X
5in. Area of all 4 faces is: 4 X 1.5 =

The surface area of the pyramid is: .
The surface area is: -
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1

» -7 Find the surface area of this rectangular pyramid.

7cm

For a rectangular pyramid: ,
SA = area of rectangular base + area of each triangular face

755+ (XS oL
251 + B3

The surface area of the pyramid is: ”00 ' l .

8. Is the surface area of this cone less than 500 square inches?

15in.
8
7in.
Find the slant height, s.
Use the Pythagorean Theorem.
2=_ 1% 4 7
{s2=\ 274
s= lbcg
Find the surface area: .
sa=p (10 + 2COIES)
Substitute: = and =

+

The surface area of the cone is about:

s- 20 63

gl

The surface area of the cone is 12 3 {__than 500 square inches,  ~
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1.5 JEB Find the volume of this rectangular pyramid, to the nearest cubic centimetre.

For a rectangular pyramid:
v=14 (bs) (%)
Substitute: = A =
v= "5 (SBX%)
See page 33 for the
formula for the volume V=

of a pyramid.

The volume is about: :

-

-

10. A bowl! of sugar was knocked over. The spilled sugar formed this cone.
How much sugar was in the pile?

6 cm

4 cm

Use the Pythagorean Theorem to find h.
' 1 A o A,

Find the volume:

-
V= u’f 'J“ f’

Substitute: = and =
V=

p i 1

There was about of sugar in the pile.
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11. Find the surface area and volume of each object, Give the answers to the nearest

L 4 (]
whole number of units.
a) asphere
O 7 mm See pages 40 and 41 for the
: formulas for a sphere.
For a sphere:
4 Y

75{ -.  . Substitute:

sa=_"110)

SA =

The surface area is about t ) ) 75)
A

V= 3 i [’

Substitute;

V=

V= b
The volume is about: lLi ?Lé $ 75

b) a hemisphere

/7220, N

\—

Radius is:

For a hemisphere: .

sa=_ {9y )
' SA =

Substitute: =

SA =
The surface area is about:

=5 (G

Substitute: =

V=

V = -
L The volume is about:
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42. A garden shed has the shape of a square pyfami&. on top of a square prism. Both the pyramic. =
and the prism have base side length 8 ft. The prism is 6 ft. high and the pyramiciis 3 ft. high. 7 .. i

3ft
.... g W
6t
o';--‘-
_____ Bt
81t
" a) Find the surface area of the shed. Do not include the base of the shed.
Let the slant height of the
pyramid be s feet. '
3t J i
‘aﬁ. f '
8 ft. 41t
Surface area of square pyramid Surface area of square prism
is the area of 4 triangular faces. is the area of H rectangular faces.
Find the slant height of the pyramid. Area of 1 rectangular faceis: .
Use the Pithq rean Theorem. TEh = A :
2=_3 -wi?‘ Areaof “/ _rectangular faces is:
G + o —
g

- - . o Pl -
- %5 HB45 4 A = 4ra0 - 50
Area of 1 triangular face is: T’Tx—g - = ‘20 , o = /63
e P '-l = ('/ K { JZ
Area of ,2 triangular faces is: 36030 = ";O I
Add the surface areas._ = | \ T
Total surface area is: 20 + (L0 = ¥0 \4\/()}(0' 0? l‘/g d‘ff{’ ‘
The surface area of the shed is: o / '
b) How much space is inside the shed?

Find the volume of the shed.

Volume of square pyramid: Volume of square prism:
v=3(% ) 3) V=
Substitute: St
V=
V= V=
V= g
Total volume is: _ 7+ =
There is oy £ | of space in the shed.
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